Name Period
LTHS: Chemistry

Unit 1 Review - Intro to Chemistry
1. Know your vocabulary from the Unit
I can use safety protocols and equipment in the classroom

2. What is the proper way to smell a chemical?
vaadt X

3. List 3 items that would be appropriate laboratory attire and 3 items that would be
inappropriate attire in a laboratory setting.

Appropriate Attire Inappropriate Attire
closed, toed Shoes loose Sivirnas
long pants Q&h&!\j Jowelry
housr back open foed Shoes
ok opron Shorts _
%oaa\-as [onj ma\'mhhw

4. Describe the use for the following safety equipment

Safety Shower Chemicad spill an Clothing
Eye Wash Station cherrua eols im epes

Fire Blanket person o RAve

Fire Extinguisher fre on blole | Floov

Broken Glassware Container | broken, exacked, domaged 8\033

Evacuation Plan Close chewieals, tuvn off buvners ete.




I can differentiate and identify the steps of the scientific method
I can develop a lab based on steps of scientific method
5. In 1872, awealthy railroad tycoon named Leland Standford (Standford University is
named after him) made a bet with a friend about a galloping horse. Put the step number
next to each step of the scientific method for this problem.

_l_ Mr. Standford wondered if there was some point in time during the gallop that the hooves
of a horse don’t touch the ground.

L Some of the pictures showed that the horse’s hooves were all in the air at the same time.
_ 2. Leland Standford made a bet that there is a time at which all of the hooves of a galloping
horse don’t touch the ground.

_ 3 Mr. Standford decided to ask a photographer to take some pictures of a horse galloping at
the racetrack.

_"l’_ The jockey rode the galloping horse around the racetrack.

i Mr. Standford looked at the pictures the photographer brought him.

6. What is the difference between qualitative and quantitative?
1umn+\"r:ﬂ"~'€_ - uses -
qualitohive - USts wovds
7. Classify each of the following as qualitative or quantitative:
a. The object had a mass of 2.3 grams. 1ua,n+{ 11-% N1 -2

b. Carbon dioxide was produced. uadt fochve

c¢. The liquid looked yellow. quoaki Yo hvo

d. A yellow solid formed. quaki tah v

e. The object has a temperature of 75.6°C 1mn’i\‘f0d'l\l‘ﬁ,

8. What is the difference between an observation and an inference?
oksenation - uses senses do dasoriba. what IS inRrence - uses priev: Knowledge
9. Classify each of the following as an observation or inference.
I a. When the dinner with her hushand’s parents was over, she was so anxious to
leave and go home that she left her coat behind.
®) b. He beeped the horn several times in rapid succession, turned into the oncoming
fane, and sped around the stalled car.

10. What is the difference between a theory and a law?

‘fheov-s- exploin By Some:h«.éns oecuy S

kuo - Swmmovizes [Tk, o veloshionswip | fact

11. What is the difference between accuracy and precision?

Gccmracy = oo o o Measureamuct it ha vue Vabue
1.e. 6h°Oan3 o bball jnto Yhe basket

-P&cishn ~ how lose a measuwvemant is Yo ancsthed,

how vRpeafoble & meaSuxemenct 5. .
.. hi'H{ng T Sawne Spok o The. vina Q)JM'\-\W'\Q;



[ can dentify dependent and independent variables, controls, and constants
10. The science department of LTHS decided to test a brain pill which they designed to (they

hoped) improve the intelligence of their students by a whopping 50%. They took all 180
students who were taking physical science classes and randomly divided them in half.
One half was given the brain pill, the other half was given an identical looking pill but
without the brain stimulating ingredients. The students were given the pill with 8 ounces
of water the same time every day for an 8 week period. The staff was told exactly what
lessons were to be taught. At the end of the first semester the grades of all students
participating in the experiment were checked

a. Name the control _

Shudonts e the idenfical lmk—i\nﬁ it (p lace bo )
b. Name all of the constants
% 9ZH,0, Same time, Same lesson
¢. Name the independent variable
byain PP\
d. Name the dependent variable
Scores| grades of T Shudets

I can identify different pieces of lab equipment

idenlify esch plece of glassware by labeling the images,

—— m
Volumedvie | beaksa 3Ym Evlen mojev
Cd“n&-ﬁ)- Posk.

¥ lovencs ﬂask



F can identify graphical relationships and variables using graphs
I can extrapolate and interpret data using graphs and tables

[ can produce a graph with appropriate scales, labels, and titles

Age of the tree in years | Average thickness of the annual | Average thickness of the annual
rings in cm, Forest A rings in cm. Forest B

10 2.0 22

20 22 25

30 35 36

40 3.0 3.8

50 4.5 4.0

60 43 4.5

The thickness of the annual rings indicates what type of environment was occurring at the time
of its development. A thin ring usually indicates a lack of water, forest fires, or a major insect
infestation. A thick ring indicates just the opposite.

Thickness of vings (am)
MR D
© W U »n 5 qa

Yoo v

. %wg@%‘%
o FovestA

“Thickness o

for Fovest A o

@5’.3\1‘5. Ase

L&l

O 4 T 2 20 3y 2v 32 3% 4o MHYY T250 oo

A%Q. of “Tree (ys\

11. Make a line graph of the data.
12. What is the dependent variable?

13. What is the independent variable?

14. What was the average thickness of the
annual rings of 40 year old trees in Forest A? in

T Forest B? 3.0 ~HA
7 3.3-B
7 15. Based on this data, what can you conclude

about Forest A and Forest B?

Fovest B ogpears to have
€55 Pproblems, Movre walia, feec

ves, less insecd c\owm.%e_



I can measure solids and liquids to correct number of significant figures using tab equipment
16. Reading with Precision — Provide precise readings (including a value and units) for each
of the following instruments.

Reading: [D. 05 om Reading. T+ O mb Reading: 1273, H?SS

T can identify number of significant figures and use math rules appropriately
17. Count the number of significant figures for each number below:

a 160 3 c. 540000 @ e 6007
b. 54000 2 d. 0000107 3 £ 14 2.

18. Perform the following mathematical operations and express your answers to the proper
number of significant figures

a 642x(4.0x10% a. 0.00000016/74.3 a 45+8423
-026 2.2 %10 Vor Z.Oxi0® 8. F
b, 59x(3.24x10%)/4.80x 10* b, 2.45x .042 b. 9.43-8.2005
H4.9xip"> 1O }-23

[ can convert numbers into and out of scientific notation
19. Change the following numbers into scientific notation:

123,000,000,000 g 0.005406 Mg 105.000 mL 0.000064 sec
\.26x10”3 S40LYD > Mq 1.0S%X1D° mL G H%10™ 500,



20. Take the following numbers out of scientific notation:

145 x 10° 6.521 x 107 4.84 x 107 2.1x 107

14500 Nola'es'aslz 1 - QOY4gY 210

21. Perform the following calculations. Your answer must be in proper scientific notation

57x10°+023x 10°

F0x10°x3.0x 108 (3.76 x10°+ 2.1 x 10 /2.5x 107
%.OXIO‘f 3.07”0' 2-"17“08
9x 10°-3x 10* 8§0x10%+20x 107
q o ? 4.0%10™"

I can convert between metric units and prefixes

22. Write out all of the metric prefixes and symbols, and the numerical value for each
M - meqo. I0% ov },000,000

K - kil 103 e 1000
I - hecka. 10* o 10O
D - Deka VO' or 1O

vase wnit (gm,L ere) 1O° o]
A - deei WO ov ‘he ov .
C -cenh 107 ov ‘lico or .0OI

m - milly W0 2 or ‘ltooo av . 0o}

e
ar—

- - ig
i ~-ievo 10 P or Yioooope or . ©ooCO|

23. Perform the following metric conversions by moving the decimal or using dimensional
analysis

89.75kgtocg 165 cmtom 0.056 ML to hL

0.0046 pg to Dg
875000 ¢ |.65 m 500 ni

L OD0COODCCM o



[ can solve mathematical problems using dimensional analysis using dimensional analysis
24. Perform the following conversions using Dimensional Analysis

a. 17.50 days into seconds

M oyt S Ot WO = 172 00D R
13-50 dgkss x Uds T wE | e

b. 1.124 km nto inches

L B2g0ft V2w :
\.\ZL\\QMXW Vv X—--ﬁft"" = 4420 e
c. 16.54 yards to mm -
. 2. ey
l6-SHudls 5{% alEie g SEEE 2 1512 = 15120 mm
d. 1,768.0 pencils to"gross (1 gross =12 dozen)
. idoz \gross
<. . . J
1F6%-Opencids x 2 oenats v — 12233 ares

I can differentiate between mass and density

1 can describe how density relates to mass and volume for matter

[ can calculate density given the mass and volume or calculate relationships between density

mass and volume.

25. Solve the following density problems using the GUESS method:
a. What is the density of an object that has a mass of 67.0 g and a volume of 14.7
7

m = E’%.'os _-D:_"“‘Yy = —(—'f%;-\_— = 4.50 8ImL_
Vs 4. TREen )
= ~

-

b. What is the density of an object that has a mass of 17.0 g and is a cube with the

dimensions of 1.2 cm, 7.4 cm, and 3.0 cm? - M 3.0
= 70 D= - 3 = ,603 ;ma
m 3 3 A\ 2Hem® 8
V = 1. 2cm ¥ 8w * 3.0am = 2ZFem ov 3
he 2 .(o‘{d len

c. What volume will 88.0 g of an object with a density of 3.44 g/mL occupy?

= 8%.0 1A 3%-0
P V== = 225 s 05 6ml
V=7 5.’-\‘{3me
:D:SH%§ML
d. What will be the mass of 0.047 liters of a substance with a density of 8.73 g/mL?
-
= M=V = YIL«x s.qaa}ml_

AV C:b"fq'f_ Ll:"hnl... —
b= BABqlml = ‘“03



